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Combining Amounts (with Fractions)

Name:

Usethetablesto answer each question.

1)  Thetable below shows the weight of
several bags. What is the combined
weight of all the bags?

30 | yilograms
Bag 1 47,
Bag 2 27
Bag 3 87,
Bag 4 17,

3)  Thetable below shows how many
milliliters of ink were in pens. What
is the combined capacity of all the

pens?
P | ey
Pen 1 77,
Pen 2 27,
Pen 3 27,
Pen 4 57,

5)  Thetable below shows the weight of
severa vehicles. What isthe
combined weight of all the cars?

Car Weight (in
tons)
Carl 54/5
Car 2 57,
Car 3 17,
Car 4 54/6

2)

4)

The table below shows how much water
severa containers will hold. What isthe
combined capacity of all the containers?

Container (?apacity
(in cups)
Container 1 82/3
Container 2 37,
Container 3 51/2
Container 4 51/4

The table below shows the weight of
severa phones. What is the combined

weight of all the phones?

Phone V\i)?,g:;()l !
Phone 1 31/2
Phone 2 12/4
Phone 3 92/8
Phone 4 31/4

The table below shows the length of
several roads. What is the combined

length of al the roads?

Road Dis;tnaiT;:; fix
Road 1 86/8
Road 2 47,
Road 3 27
Road 4 77
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Combining Amounts (with Fractions)
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Answer Key

Usethetablesto answer each question.

1)  Thetable below shows the weight of
several bags. What is the combined

weight of all the bags?

30 | yilograms
Bag 1 47,
Bag 2 27
Bag 3 87,
Bag 4 17,

4%,

2%,

87,

1%,

3)  Thetable below shows how many
milliliters of ink were in pens. What
is the combined capacity of al the

pens?
P | ey
Pen 1 77,
Pen 2 27,
Pen 3 27,
Pen 4 57,

5)  Thetable below shows the weight of
severa vehicles. What isthe
combined weight of all the cars?

Car Weight (in
tons)
Carl 54/5
Car 2 57,
Car 3 17,
Car 4 54/6

2)

4)

6)

The table below shows how much water
severa containers will hold. What isthe
combined capacity of all the containers?

Container (?apacity

(in cups)
Container 1 82/3 840/60
Container 2 34/5 348/60
Container 3 51/2 530/60
Container 4 51/4 515/60

The table below shows the weight of
severa phones. What is the combined
weight of all the phones?

Phone V\gzg:;(; !
Phone 1 31/2 34/8
Phone 2 12/4 14/8
Phone 3 92/8 92/8
Phone 4 31/4 32/8

The table below shows the length of
severa roads. What is the combined
length of al the roads?

Road Dis;tnaiT;:; fix

Road 1 8%, 8%,
Road 2 47, 4%,
Road 3 27, 2%
Road 4 77, 7o

Answers
1 177 12
. 237
. 187,
4 174 8
5 1828 60
. 23/,
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